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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half  marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. (a) Explain the term hybridization. How many types 

of hybridization is found in the Carbon 

compound ? Explain. 

ladj.k ls vki D;k le>rs gSa \ dkcZu ds ;kSfxdksa esa 

fdrus izdkj dk ladj.k gksrk gS \ le>kb,A 

(b) What are Carbenes ? What do you understand by 

singlet and triplet carbenes ? Describe in detail 

dkchZu D;k gSa \ flaXysV o fVªiysV dkchZu ls vki D;k 

le>rs gSa \ foLrkj ls o.kZu dhft,A 

2. Discuss any three of the following : 

(a) Birch reduction 

(b) Benzyne substitution 

(c) Saytzeff rule and Hoffman elimination 

(d) Relative and absolute configuration 

fuEufyf[kr esa ls fdUgha rhu dh O;k[;k dhft, % 

¼v½ cpZ vip;u 

¼c½ cSUtkbu izfrLFkkiu 

¼l½ lstQ fu;e rFkk gkQeSu ,fyfeus’ku 

¼n½ rqyukRed rFkk ije foU;kl 

3. (a) Give detailed account of structure of benzene. 

cSUthu dh lajpuk dh foLr`r foospuk dhft,A 

(b) Explain ortho/para ratio. 

vkFkksZ@iSjk vuqikr dks le>kb,A 
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4. Write short notes on any three of the following : 

(i) DDT 

(ii) Mechanism of electrophilic substitution reaction 

with special reference to nitration of benzene  

(iii) Dienes 

(iv) Acidic nature of alkynes 

fuEufyf[kr esa ls fdUgha rhu ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) Mh- Mh- Vh- 

(ii) bysDVªkWuLusgh foLFkkiu vfHkfØ;k dh fØ;kfof/k fof’k‛V 

:i ls cSUthu ds ukbVªhdj.k ds ifjizs{; esa 

(iii) MkbbZUl 

(iv) ,Ydkbuksa dk vEyh; xq.k 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is hyperconjugation ? How is it used to 

determine stability of carbocation and allenes ? 

vfrla;qXeu D;k gS \ ;g fdl izdkj dkcksZdSVkbu o ,yhu 

ds LFkkf;Ro dks Kkr djus esa mi;ksxh gS \ 
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2. What are free radicals ? Discuss their characteristics 

and order of stability. 

eqDr ewyd D;k gSa \ budh fo’ks‛krkvksa ,oa LFkkf;Ro dk 

o.kZu dhft,A 

3. What is the difference between configuration and 

conformation ? Give boat and chair conformation of 

cyclohexane. 

la:i.k o foU;kl esa D;k vUrj gS \ lkbDyksgSDlsu ds uko 

o dqlhZ la:i.k dks le>kb,A 

4. Explain the following : 

(a) Enantiomer 

(b) Raceimisation 

fuEufyf[kr dks le>kb, % 

¼v½ fcEc izfrfcEc leko;oh 

¼c½ jslhehdj.k 

5. Write the reaction of HBr on propene. Give the 

mechanism in presence of peroxide and in absence of 

peroxide. 

izksihu dh HBr  ls fØ;k fyf[k,A fØ;k dh fØ;kfof/k 

ijvkWDlkbM dh mifLFkfr ,oa vuqifLFkfr nksuksa esa nhft,A 

6. Complete the following reactions : 

(i)                

2

2

CH

||

CH

 ? 

 



 [ 5 ] CH–02 

B-25 P. T. O. 

 

(ii)                     + Cu  ? 

 

 

(iii) 

                       

4KMnO
A B   

 

 

(iv)                    + 2
light

Cl ? ?   

 

fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 

(i)                       

2

2

CH

||

CH

  

 

(ii)                     + Cu   

 

 

(iii) 

                       

4KMnO
A B   

 

 

(iv)                    + 2Cl ? ?   
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7. Why phenol is more reactive than nitrobenzene for 

electrophylic aromatic substitution reaction ? Explain. 

fQuksy ukbVªkscSUthu ls bySDVªksfQfyd ,jkseSfVd izfrLFkkiu 

fØ;kvksa esa vf/kd lfØ; D;ksa gS \ le>kb,A 

8. Describe the factors which affect 1SN  and 2SN  
reactions. 

1SN  o 2SN  fØ;kvksa dks izHkkfor djus okys dkjdksa dk 

o.kZu dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. In which of the following organic compounds all the 
carbon atoms do not lie in one plane ? 

(a) Toluen (b) 2-butene 

(c) Neopentane (d) Propene 

fuEu dkcZfud ;kSfxdksa esa ls fdl ;kSfxd esa lHkh dkcZu ,d 

gh ry esa fLFkj ugha gSa \ 

¼v½ VkWyqbZu ¼c½ 2&C;wVhu 

¼l½ uhvksisUVsu ¼n½ izksihu 

2. Which of the following reagents may be described as 
electrophilic reagent ? 

(a) NH3 (b) AlCl3 

(c) CH3CH2 (d) CH3CH2OH 
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fuEufyf[kr esa ls fdls bysDVªksfQfyd vfHkdeZd dg ldrs 

gSa \ 

¼v½ 3NH   ¼c½ 3AlCl   

¼l½ 3 2CH CH   ¼n½ 3 2CH CH OH  

3. The value of bond angle strain is calculated with the 

help of ............... theory. 

cU/k dks.k fod`fr ds eku dh x.kuk 
---------------

 ds vuqlkj dh 

tkrh gSA 

4. Maleic acid is more stable than fumeric acid.  

     (True/False) 

eSfyd vEy] ¶;weSfjd vEy ls vf/kd LFkkbZ gSA  

    ¼lR;@vlR;½ 

5. The peroxide effect involves : 

(a) Ionic mechanism 

(b) Free radical mechanism 

(c) Heterolytic fission of double bond 

(d) Homolytic fission of double bond 

ijvkWDlkbM izHkko esa gksrh gS % 

¼v½ vk;fud fØ;kfof/k 

¼c½ eqDr ewyd fØ;kfof/k 

¼l½ f}cU/k dk fo‛kecU/k fo[k.Mu 

¼n½ f}cU/k dk lecU/k fo[k.Mu 

6. The effective electrophile in sulphonation of benzene 

is ................ 

cSUthu dh lYQksuhdj.k fØ;k esa izHkkoh bysDVªksQkby 
------------

 

gSA 
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7. In halogenation of benzene using Cl2 along with 

anhydrous AlCl3 as a catalyst, Cl2 is electrophile.  

     (True/False) 

cSUthu ds gSykstuhdj.k esa tc cSUthu dh fØ;k 2Cl  ls 

‘kq‛d 3AlCl  mRizsjd dh mifLFkfr esa dh tkrh gS] rc 2Cl  

bysDVªksQkby dh rjg dk;Z djrk gSA  ¼lR;@vlR;½ 

8. Which of the following is an organometallic  

compound ? 

(a) Lithium methoxide 

(b) Lithium acetate 

(c) Lithium dimethylamide 

(d) Methyl lithium 

fuEufyf[kr esa ls dkSu lk dkcZ/kkfRod ;kSfxd gS \ 

¼v½ yhfFk;e ehFkksDlkbM 

¼c½ yhfFk;e ,lhVsV 

¼l½ yhfFk;e MkbesfFky,ekbM 

¼n½ esfFky yhfFk;e 

9. In the reaction of p-chlorotoluene with KNH2 in liquid 

NH3 the major product is ......... 

iSjkDyksjksVkWyqbZu dh 2KNH  esa nzo veksfu;k esa fØ;k gksus 

ij eq[; mRikn 
-----------------

 feyrk gSA 

10. How many optically active stereoisomers are possible 

for butane 2, 3 diol ? 

(a) 1 (b) 2 

(c) 3 (d) 4 

C;wVsu 2] 3 Mkbvky esa fdrus izdk’klfØ; f=foe leko;oh 

laHko gSa \ 

¼v½ 1 ¼c½ 2 

¼l½ 3 ¼n½ 4 
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